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(D) It is not wise for Japan to boast its dependence on nuclear
energy as a way to cut greenhouse gasses.
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(D) It is not wise for Japan to boost its dependence on nuclear
energy as a way to cut greenhouse gasses.
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I Read the passage below and answer the questions. For all the questions, write
the letter (A), B), (©), or (D) on your answer sheet by choosing the most

appropriate one from the given choices.
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] 1 According to Paragraph [ 1], complete the statement below:

The author expects the reader to remember

that the reader has read books and seen movies
where the reader will work in the future
that the world is out there for the reader to explore

that the reader has no idea about the world

] 2 Whose story is an example of the glittering promise of world travel

mentioned in Paragraph [ 3]?

Todd Robinson
Victoria Stanski
Janell Wright

the author

] 3 Whose story is an example of the grim reality of a genuine social

injustice mentioned in Paragraph [3]?

Todd Robinson and the author

Victoria Stanski, Janell Wright and the author
Todd Robinson, Victoria Stanski and Janell Wright
Todd Robinson, Victoria Stanski and the author

] 4 Which of the following is most appropriate as an explanation for the

‘ah-hah moment’ in Paragraph [ 5]?

D

a time for students to write in schools in the US
a time when one needs to study for an exam

a time when one suddenly realizes something

a time in sixth-grade social studies

— 4 — OM2(075—14)



M 5 According to Paragraph [ 6 ], which statement is the most appropriate?
(A) The author and her colleagues have lost their nationalities.
(Bl The author and her colleagues knew the meaning of what they were
doing from the start of their careers.
(C)  Unlike the author, her colleagues did not realize the significance of their
experiences.
(D) The author and her colleagues pursue different careers to achieve global

justice.

il 6 Which of the following is closest in meaning to the phrase you’re spoiled
for choice in Paragraph [7]?
(A)  You have many things to choose from.
(Bl You indulge yourself in choice words.
(©  You choose the right thing very quickly.

(D) You tend to make wrong choices.

ffl 7 Which of the following is closest in meaning to overwhelming in
Paragraph [ 8]?
(A) abstract
(B) insignificant
(© unbearable
(D) satisfactory

f 8 What does the phrase to put these problems in a museum in Paragraph

[ 8] mean?
(A) to open a special exhibition devoted to the problems
(B) to solve the problems and move forward
(C) to make the problems worthy to be proudly displayed
(D) to cooperate with public facilities to deal with the problems
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1 9 What does global players in Paragraph [ 8] refer to?
(A) academic people all over the world who major in various disciplines
(B) various organizations that try to overcome global problems
(© various multinational corporations that have great influence in the global
market

(D) a variety of talented people trying to find the right jobs for themselves

110 According to Paragraph [ 9], complete the statement below:

The author expects the reader to

(A) prepare to make a good career in the domestic labor market
(B) refrain from looking at the world from an optimistic perspective
(©) seek whatever employment may be available in the home country

D turn an enthusiasm for global affairs into a career in the global village
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I Read the 2023 newspaper article below and answer the questions. For all the
questions, write the letter (A), (B), (C), or (D) on your answer sheet by choosing

the most appropriate one from the given choices.
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B 1 Choose the most appropriate phrase to complete the following title of this
article:

Title: Record heat shows need to

(A) protect the present lifestyles of the developed world
(B) learn from past civilizations
(© mount renewable energy push

(D) increase nuclear power generation

B 2 Which of the following would be most appropriate for (@)( ) in
Paragraph [1] and (b)( ) in Paragraph [11]? Each choice can be
used only once.

(A) alternatively
(B) at the same time
(©) by contrast

(D for example

fd 3 Which of the following is closest in meaning to called for in Paragraph
[2]?
(A)  demanded
(B) prohibited
(C) recalled
D took care of

B 4 Which of the following is closest in meaning to hypothetical in Paragraph
[4]?
(A) actual
(B) ideal
(©) impossible
D past
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f 5 According to Paragraph [ 5], complete the statement below:

The climate scientists would argue that the 2023 heat waves

occurred independently of global warming
were unpredictable even after repeated computer simulations
would not have occurred in the absence of global warming

were observed more frequently before climate change

B 6 As for the meaning of Paragraph [6], which of the following is most

appropriate?

(A

If greenhouse gas emissions continue at the current rate, the
temperature increase Wiil surpass the 1.5 degrees mark after 2030.

The temperature has already reached 1.5 degrees Celsius above
preindustrial temperatures.

With a temperature rise of 1.5 degrees, heat waves may occur 4.1
times more often.

The impact of a temperature rise of 1.5 degrees is only a problem for

now and not for the future.

Bi 7 According to Paragraph [10], which statement would the author most

likely agree with?

(A)

Ramping up nuclear power generation needs to be prioritized to achieve
decarbonization.

Moving away from nuclear energy may not be an effective solution for
Japan’s decarbonization policy.

The risk of serious nuclear accidents and the problem of radioactive
waste will be solved in the very near future.

It is not wise for Japan to boast its dependence on nuclear energy as a
way to cut greenhouse gasses.
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] 8 Regarding use of renewable energy sources mentioned in Paragraph

[11], complete the statement below:

To improve the use of renewable energy,

(A) wild animals will have to suffer
(B) landslide risks will be increased
(©) solar electricity production has to be halted temporarily

(D) electricity networks need to be improved

i 9 Which of the following statements is NOT supported by the article?
(A) Russia’s aggression against Ukraine has caused global energy situation
changes.
(B) Major electric utilities have been growing because they have purchased
renewable energies.
(C Power generated by clean energy has been temporarily stopped at times.
(D) Generating solar and wind power locally is good for natural disaster

preparation.
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The passage in Question 1 contains examples of people working in foreign
countries. Do you want to do this in the future? Explain why you would, or
would not, like to work in another country. Give two or three reasons for your

opinion. Answer in English, in the form of a paragraph, in about 120 words.
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